JTSSE SAMPLE QUESTIONS PAPER & ANSWERS, CLASS-V

GROUP A
SCHOLASTIC APTITUDE TEST : t*if3 eiderel srerw
Total Marks : 40 S[EW ¢ 80
Each question carries One Mark : 2if$t5! 241 31t > 791

fa=@« (Science)
IS E EACA C AR IS RIPICK

Viruses are made of —
a. R Q30E6 i 2’ (Carbohydrate and Protein)

b. &' Si% {5 @i (Protein and Nucleic acid)
c. *i$91 &% 51 (Starch and Fats)
d. esRg 96133201 (All of the above)

2. oo (FRY Cfgm Risie e e i€ qic 2
Which of'the following plants stores food in roots.
a. 9llerq (Carrot) b. 7e] (Potato)
c. 217 (Onion) d. 1wl (Ginger)

3. TSRS Y NN T T i 7
How many bones are there in the human body?
a. 260 b. 206 c. 602 d. 620

4. —— = T T A |
—— helps in body building.
a. ¥ 2I30Y0G (Carbohydrate)
b. &’ (Protein)
c. [SBIRI (Vitamin)
d. ¥ #m<E (Minerals)

5. o (IR RS 2f0x w2 ?

—_—_— - — — 1



Which of the following is not a human sense organ.
a. 2% (Skin) b. fere! (Tongue)
c. «I< (Nose) d. ®Y (Nerve)
6. OIS (PIIRY wled (<1912
Which of the following is dental disease.
a. 9197 (Goiter) b. =i (Scurvy)
c. (faz (Caries) d. =6 (Ricket)
7. IS SGIRSCF (@ A A o[y TA—
The most abundant gas in the air is —
a. =35 (& (Nitrogen)
b. ®IfSCE (Oxygen)
¢. 213G (e (Hydrogen)
d. FRT-TIZ-53ZT (Carbon dioxide)
8. o GHFAN ©F 24 2N WF ST 8 T (2.5 T FI9 Ty
73—
The mass of a piece of wood is 24 gram and its volume 8 cm’,
the density of the wood will be

a. 2.5 &l/ae (=l (2.5 g/em’)
b.3 2 (3 g)

c. 39 (=f. (3 cm?)

d. 3 fs/ee @, (3 g/em?)

9. AN HHF AN 7—
Ore of Mercury is

a. FA2H (Bauxite) b. ’eelidig (Cinnabar)
c. G255 (Hemetite)  d. 2’3125 (Thoroit)

10.  ©619 (iR Fvz 212
Which one of the following is a transparent object?

a. 15 (Wood)



| b. d12 (Bamboo)

I c. #Ife7f2 (Polythene)

: d. @*TT =512 H20! (All of the above)

|11, GFRIR e a1 (FIeE 219 23 2

| The fern reproduces through —

: a. il (Root) b. 7l (Leaf)

| c. (39 (Spore) d. I (Stem)

|12, GRe wieeete a1 1 Gy i) 2e—

| An animal living in polar region is —

: a. 9<% (Cow) b. (&%l (Sheep)

| c. &l (Sheal) d. 2Rel (Deer)

113, wer Ry 2o —

: Fulcrum is that point

| a. RGB! g (e 5« ferei<eiel (< (around which points the
| lever rotates)

| b. TS R™re ©iF 2 Al A (in which point there is the mass
| or resistance of the body)

: c. [ICh! /e 31e1 2Cisl 941 23 (in which point force is applied)
| d. {59 ¥BIe 923 (None of the above)

| 14, @SN @RS 45 et gl wigeis —
| Hair like structure present in the cell of bacteria is —
: a. @W (Pseudopod)
| b. 55791 k9 (Golgi Complex)
| c. @peerel (Flagella)
: d. €5 927 (None of these)
| 15. i ist frcr —
I

I

I

The direction of pressure of water is —
a. @7seIcsT (Upward)



b. ©eTRICeT (Downward)

C. AFCIRAICA (in all directions)

d. #IMiEeIc (in lateral direction)
ForzF aiferel cenal ey targ —

The instrument used to measure the wind speed is —
a. 222 6K (Hygrometer)

b. Y M6 (Air flag)

c. 9B (Anemometer)

d. €5 927 (None of these)

TT 511E (A4l toifee—

Dodo was found at—

a. If{%2% 191 (island of Mauritius)
b. #1%F1 @1#l@ (Lakshadep)

c. &1 (Srilanka)

d. @5{<9 4bIs 727 (None of these)
Yoo 4l GNeTiy 2si—

The element present in protein is —

a. BT (Helium)

b. =15 (Argon)

c. <3G & (Nitrogen)

d. 7T« (Neon)

OETS (ITCH! I TR 2

Which one of the following is a Luminous?

a. (6341 (Table) b. 53! (Chair)
c. fFief (Book) d. =T (Lamp)
SfAe[FT A9T AT =t oA —

The Percentage of sea water in the surface of the earth —
a. 1% b. 70% c.25% d. 97%



aifre (Mathematics)

21, 2ART 91 ST 541 |
Fill in the blanks
1 eoif = ——— et

1 Crore= million
a. 1 b. 10 c. 100 d. 1000

22, OO WRAMCE SREFE fo1all |
v IS (I sizores o1 Taoieeiz 2l 24 37 biez |

Write the following number numerically.

Two hundred four crores seventy five lakhs forty nine thousand
six hundred forty seven.

a. 204, 75, 49, 647 b. 240, 75,49, 647  c. 204, 750,
49,647  d. 20,47, 50,49, 647

23. TH&ENe A |

Arrange in ascending order.

612612126, 621621621, 612612612, 621612161

a. 612612126, 621621621, 612612612, 621612161
b. 621621621, 621612161, 612612612, 612612126
c. 621612161, 621621621, 612612612, 612612126
d. 612612126, 612612612, 621621621, 621612161

24, 7,8,9,0,2,3, 4 SIE20IA 119 219 WHITOE ©ieq A
i AGIBOCE A FLANGR A1 29—

Difference between the greatest and smallest numbers that can
be form by the digits 7, 8,9, 0, 2, 3, 4, is—
a. 7893531 b. 7839513 c. 783351 d. 7839531

25, VCXIV RYIGR By-wiaq 74l safow fordl |

Write the roman number V CXIV in Hindu-Arabian numerals.
a. 5141 b. 1541 c.5114 d. 5904



26. OETF (PG 4 A2 2

Which one of the following is a perfect number?

a. 10 b. 28 c. 49 d. 100
27. 5 * 3296 AN * g 93w F wes q2aite G 116§
SRS

Which digit should be placed in place of * sign in the number 5 *
3296 so that the number is divisible by 11.
a. 6 b.7 c.8 d. 9

28. M b, a@ oSy T (90T a < b 51718 < 1. . @ TI—
If'bis divisible by a then HCF and LCM of a and b will be
a. ab (1< (and) 1 b. a9 (and) b
c. b=t (and) a d. 1 ¥t (and) ab

29. QT DS F A T2

Which number will occur in the empty box?

|
|
I
I
I
I
|
|
I
I
I
I
|
|
I
I
I
: L] 56
|
I
I
I
I
|
|
I
I
I
|
|
I
I
I
I
|

8 64
a.6 b.7 c.8 d. o9
5 1 1
52x3—x4—=7
30. 8>< 9>< 5
3 3 3 3
— 7= 8— 78—
a. 2 b. 2 C. 2 d. 2

31. 15,17,x,23,2699% 20 2 xI Wi 29—
Ifaverage of 15, 17, x,23, 26, is 20 then value of x will be
a. 18 b. 19 c.20 d. 21
22. 653 GIZCREG! NI T (1Fe] 21
The sum of all prime factors of 65 is—
a. 18 b. 19 c. 83 d. 84

33. 5! G SRS 512 99 (2.f3. 20 339 e 1Y T—




_____________________ -
If volume of a cube is 512 cubic cm then its side will be— |
a.4cm b. 6 cm c.&8cm d. 10 cm :
O] (FECOR W 1292 |
The value of which of the following is equal to 1 |
0.404 0.404 I

& 404%0.1 " 40.4x0.1 :
0.404 0.404 |

© 0.404x0.1 " 4.04%0.1 I
I

Q2 JEIFIS A FIfeT 13.86 (239 | 21 BifREICE @aﬁ@r
i 29— 29 3l &ifs bR (99 il 992 0.60 531 23— |

The area of a circular field is 13.86 hectare. The cost of fencing |
it at the rate of Rs. 0.60 per metre is— |
a. Rs. 784 b. Rs. 972 |

c.Rs. 792 d. \¢*"q B8 w=F (None of the above) :

AQ 951 I 10 e F(1 #AICd, BRI Q6! FI 15 were 1 |

IS | FINCE! YR Geeteal s e < «iifsa e

A does a work in 10 day and B does the same work in 15 days.
In how many days they together will do the same work?

a. 15 = (days) b. 6 = (days)
c. 8 e (days) d. 9 W« (days)
Qe ARIMTICT 2 961 60 B T | aIETeE 30 K te @@l

A bus travels 60 km in 2 hours. The distance covered by the bus
in 30 minures is—

a. 2 [¥fl. (km) b. 7.5 L. (km)

|
|
|
|
|
|
|
799 RI— I
|
|
|
c. 15 . (km) d. 30 ffI. (km) :

|

|

|



1
5 of one right angle =?

a. 30° b. 45° c. 60° d. 90°

39. I foacsre fFwivele e o S fiifst s ©ie @2ide =itz ?
How many sides and diagonals together are there in the given

figure
a.s b. 6 c.8 d. 10
NoR Fiels [ o= 792

If price of 57 metre cloth is Rs. 598.50 then how many cloth can
be purchased by Rs. 5047
a.50m b.48 m c.45m d. 40 m

GROUP B
MENTALABILITY TEST : i A< S
Total Marks : 30 JJ 594 3 vo
Each question carries One Mark : 2if$t5! 24< 31t > 799

Direction : In each of the questions 41-45, a series is given with one
term missing. Choose the correct alternative given below that will
complete the series.

Aot ¢ WoTe 4 1454 2% GBIt (T wrl iieg | sl Seaeaies 21 el
S13 AN B #A% e SR #1191 TS (RTNCB! 75jef 2 |

41. A,E, 1,O, —

(a) Y (b) W (c) U (d VvV

| |
| [
| I
| |
| |
| |
| [
| [
| I
| |
| |
| |
| [
| [
| I
| |
: 40. I 57 NHR FICART 7N 598.50 5F T (90T 504 HF1 :
| [
| [
| I
| |
| |
| |
| [
| [
| I
| |
| |
| [
| [
| I
| |
| |
| |
| [



| 42. LZ, MY, NX, OW, — |
| (a) PV (b) QU (c) RT (d) SS [
| 43. QPO, TSR, WVU, — |
| (@ VWX  (b) ZYX (c) YXW (d) XWV I
| 44.9,20,31,42, — I
| (a) 52 (b) 53 (c) 54 d 55 I
I 45.1,4, 16,64, — |
(a) 256 (b) 258 (c) 260 (d) 262 |

| Direction : In questions 4650, there are four terms in each question. |
| The relationship that exists between the first two also exists between the I
last two. But one term is missing. The missing term is one of the four |

| alternatives given below. Find out the correct alternative for each question. |
:ﬁw‘m 46— SOFI\W‘&IMCUN HIRGITE #In ITR | 23S AU Y51 Siere :
| ! F=2RFCH! (<1F9 YOI Wierce! A | 758 @Bl 2 5 (2 W= | 5 205! I
| 27 BIfD o orat et wfsa e | I
| 46.81:3: :256:? |
(a) 4 (b)6 (c)8 (d) 12 |
I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

47.30 XXX : :40: 9
(a) XXXX (B)XV  (c) XL (d) VX
48.P:16: :0:?
(a) 17 (b) 18 (c) 15 (d) 14

I

I

I

[ 4

I

: 49. pQR : PgR: : mNO: ?

| (a) mNO (b) Mno (c) mno (d) MnO

| 50. TEACHER : 7 : : STUDENT : ?

[ (a6 (b)7 (c) 8 (d)9

| Direction : In questions 51-55, each has four terms. Three terms are
: alike in some way while one term is different from others. Find the
I
I
I

odd one out.

Frede ¢ 515572 2hsR AfSTHITe BIfED! #i it | 31 0! [l e @i
QWIW&WI%I@WIWZT%WGQI

| 51. (a) 15 (b) 16 (c) 17 (d)18

| 52. (a) curd (b) butter (c) cream (d)oil




(a) ™ (b)IBR (o)W (d) O
53. (a) cow (b) goat (c)dog  (d) horse

(a) 1% O () FFT  (d)
54. (a) heart (b) lung (c) ear (d) kideny

(a) ZMle (bRewe ()F  (d)3IF
55. (a) Sikkim (b) Nepal (c) Bhutan (d) Tibet

56. What is the mirror image of 2 ?

2 FRANCE! SIS BICH (FFA! (AR 2

(@) 3 (b)¢ (¢) 2 (DT
57. What is the mirror image of G ?

G SR SIS BICE (Pl (M 2

|
|
|
|
|
|
(a) ol (b) @R (c)gol  (d) fome I
|
|
|
|
|
(@ D ®e  ©D @ G I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

| Direction : In questions 58-60, numbers are placed in the figure on the |
| basis of some rules. One place is vacant and indicated as a question |
| (?) mark. Find out the correct alternative to replace the question |
| mark. |
| fomt ¢ 58-60 1 2i%i< Aforbice ey e eve fofe i fagam 7z |
| foms ics frant Tarz | ©Ita 1 2 AET) SI0g O OIS @bl e oz |
: (?) g | IR fhore 6 Afex fiesr Cearaiee #ia1 faa 1 |

I
I
I
I
I
I
I
I
I
I
I
I
I

15 10 1
" 1218 1921 11@19
15 10 9

I
I
I
I
I
|
(a) 30 (b) 40 (c) 50 (d) 60 |
I
I
I
I
I
I
I

4 3 4
oo AN, S /N
2 A 4 5 A 2 2 3
(a) 40 (b) 100 (c) 180 (d) 240



: 3 5 7 36 3 :
| 60. 3 1 ? I
: 4 3 5 23 5 :
| @3 (b) 4 ©5 @6 |

Direction : In questions 61-63, there are three problem figures followed
by a question mark (?) for the fourth one. There exists some relationship
between the first two problem figures. A similar relationship should exist
| between the third and the fourth problem figures. Find the one from the |
| answer figures that correctly replaces the question mark. |
| Foemt 8 61 7 171 637 2R FSBiT T foq oI GBS «bt 2Tl |
| 5 ( 2) =iez | 22 15! foqe fRx@e 7o oItz $O 17 W% 5ehre (12 @rF<aeT |
| 5751 <ifea | Tex Bapigza st vod Bacs! Fefa =@ wimel Ae e Bz |
| sretey < ot
| 61. Problem figures: =11 foa

OID Il al >

Answer figures: Seqfba

I

I

I

I

I

I

|
AIAN A |
(@) (b) (© (d) :
I

I

I

I

I

I

I

I

I

I

62.Problem figures: s=mi foa

ONE| 3 FOUR| 2

Answer figures: Seqfba




63.Problem figures: =1 @

P

q

Answer figures: Seqfba

o

3

£

O

(a) (b)

Direction : In questions 64—66, on the left side three problem figures

(©

(d)

are given and a question mark (?) is put for the fourth. The problem I

figures have some relations in their sequences. Pick the correct an-

swer figure which can replace the question mark.

o ¢ 643 1t 667% eTES ffGitE et fog e it =% GefEre o :
eAIEE B2 (2) WIC= | Ty HpRe SETe 1 @bl 79 itz | Ted |

64.Problem figures: =i foq

G4 |9 |
Answer figures: ¥ foq
9 | Pl o
(a) (b) () (d)
65. Problem figures: 311 fo@
| L K ?
Answer figures: Te1 g
WI|H|N|X

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
| ooz #& @bl foa Fiea 341 Tite el 5z el 72 =1 a7 |
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I



@ ® © @
66. Problem figures: 311 fo@
a B C ?
Answer figures: ¥ foa
Cl|d|E |D
(a) (b) (c) (d)

Direction : In questions from 67—70 given below, there are four figures
in each question. Three figures are alike in some way while one figure is
different from others. Find the odd figure out.

|ﬁr®m367aw70aawwa%@msﬁﬁﬁas%ﬁmwmw%ﬁﬁm |
| FI<ere 1 a1 3T 2, v o1 et 1 wiferet | @2 et ot i Sferama=mmest | |

67.

U|VvV | WX
@ 0 © @
O 3|0 | Q&
@ b © @
(| oo |z | A
@ b © @
5[ 3]6]8
5 7 4 3
@ O  © @



GROUP C
GENERAL KNOWLEDGE & CURRENT AFFAIRS :
Y T Wi AARE ToeR
Total Marks : 20 I 57949 ¢ 20
Each question carries One Mark : 2if$t5! 24 31t > 791

71, (oTRe COSET! (I (e il 2
To which country did Nelson Mandela belong?
a. A (Russia)
b. 9l (Japan)
c. wfaFel STzl (South Africa)
d. Sigferl (Australia)
72, N9 OIS (i ST ST 2
Nagpur is belonged to which state of India?
a. ¥&_I6 (Gujrat)
b. SierZl (Rajasthan)
c. I2«1% (Maharastra)
d. W=l (Madhya Pradesh)
73. AR I8 AR e 2
Who is the present president of Russia?
a. & f&f=ig (X1 Jinping)
b. g™ o (Vladimir Putin)
c. (&1 A130S (Jeo Biden)
d. 2ifsw #1512 (Hamid Karzai)
74. SIS SIS (08 (<L F SRIACGI AN —
Which organ of our body purifies blood?
a. IF% (Liver) b. = (Kidney)
c. Zma7 (Heart) d. 208H€ (Lung)
75, RIVES (1 I (PR (I (IR 2R 2
Which country is known as the 'Land of the Rising Sun'?
a. ™ (France) b. DG (Australia)




c. Gl (Japan) d. 2#1% (England)
76.  IGIM T&F-20" (TN S (I 7
Who is the present chairman of the 'G-20' countries?
a. fF1Cs7% (Finlad) b. JIf&= (Brazil)
¢. 5 (=i (China) d. Jif= (Russia)
77, ST AT AU FIF Gl T 2
Who is known as 'Frontier Gandhi'?
a. o9& FIeTN (Abdul Kalam)
b. e =& fer (Md. Ali Jinnah)
c. Al =9e7 919 Al (Khan Abdul Gafur Khan)
d. 313 251eT (Md. Igbal)
78. TSN SIS SO AT AT I (e 2
Who is the present Chief Justice of the Supreme Court of India?
a. 93 (312! (Tushar Mehta)
b. T& 32 5@E (D. Y. Chandrachud)
c. &*1¥ 939 (Prasanta Bhusan)
d. Gegget @il (Ujjal Bhuyan)
79. (I O AT *lofe 5 “1o a2
Who administers the oath of office of the president of India?
a. &9 WFICT (The Prime Minister)
b. (ISR S48 (The Speaker of Lok-Sabha)
¢. ©[Fe] 7 WA (The Chief Justice of India)
d. ©o1-]1gifeTx (Vice-President)
80. fBIfiM 'C'S (PRI zm —
Vitamin 'C' is also called —
a. #{IfSb<F @ib® (Palmitic Acid)
b. Tfe1 @b (Folic Acid)
c. 512G= @b (Citric Acid)
d. 9= '9i7< @fb® (Ascorbic Acid)
81. IO ©iTes ef Tl TG (202 —




held?
a. {92014 (Riyadh)
c. (©ITl (Doha)

a. ¢fSb1 (Odissy)
b. ¥4 (Kathak)

(X5 T TTw ?

a. F63& (Football)
c. T 0 (Cricket)

The present Defence Minister of India is —
a. SIf® %12 (Amit Shah)

b. Ar&I2 51k (Rajnath Singh)

c. <TIfo aMeST (Nitin Gadkari)

d. @{=5 «be w23 (None of above)

82. el fRiplol Sfore SibIea Ao 2
What is the capital city of Qatar where Fifa World Cup was

b. &l (Macca)
d. T3ig (Dubai)

c. F(eT (Kathakali)

d. SIS 967% (Bharat Natyam)
84. IeTl SSroIS I Il 1 &g ZoT—

The book written by Lala Lajpat Ray is —

a. 3fex fUei3wE (India Devided)

b. 7T i (Mother India)

c. SN2 213 (Unhappy India)

d. z# 2fex (Happy India)

85. (Yol AR (o= *Ws [Rerd! SPITRI (¥E] O (=al &

83. g WA (FHRY TOF w15re Gt ?

Birju Maharaja is associated to the dance form —

Medal winner in the latest Asian Games, Assamese player Uma
Chetri is associated to which following events —

b. (REIG (Bedminton)
d. (5% (Tennis)

86. GIfi® (RN SRS (@Il 20 —
The study of living cells is called —



a. 331G (Ecology)

b. 5125’5 (Cytology)

c. BTG (Microbiology)
d. arreiefer (Bio-organism)

87. ‘CR AMIIH wivw —

The post 'Mayor' is associated with —
a. 7% (Panchayat)

b. ¢oTi@ 9915 (Municipal Corporation)
c. (Tl (Lok Sabha)

d. ¢?TiTe! (Municipal Board)

88. wIwEes el WP (@I Ot #ifew 311 23 2
In which date the 'International Mother Language Day' is
celebrated?

a.21 g (21 June)

b. 21 (&K1 (21 February)
c. 21 3 (21 May)

d. 20=09% (20 August)

89. N [ e SHrE Fi e
Who is the present chairman of NITI Ayog?
a. <9 (S| (Narendra Modi)

b. AeI2 Bk (Rajnath Singh)

¢. ©° SWaEs Bk (Dr. Manmohan Singh)

d. SRR (@S« (Arvind Kejriwal)
90. www I 35 FCH T —

The full form of www is —

a. World Wide Wildlife.

b. Web Wide World.

c. World Wide Web.

d. Within World Web.




GROUP D
ENGLISH GRAMMAR : 353Gt qjiael
Total Marks : 10 S{?SW i)
Each question carries One Mark : 2fSto! 241 A3 > 799

91.  Which s the noun of the following?

a.good  b.milk C. was d. has

92.  Which is the uncountable noun of the following?
a.sugar  b.tiger C.pen d. bird

93.  Which is the adjective of the alternative given below?
a.Rita b. tall C. was d.lion

94.  Which of'the following words is an adjective?

I

I

|

I

I

I

I

I

|

I

I

I

I

I

| a. book b. read c. nice d. cat

[ 95. Putthe correctarticle of the following?

| 1) Thatis—table.

| a. the b.a c.an d. none of these
: 96. Putthe correct article of the following?

| 1) They have —union.

| a.a b. an c. the d. none of these
| 97. Fill in the blank with the correct verb.

| i) The girls — singing.

| a.is b. was c.am d. are

: 98. Fill in the blank with the correct verb.

| 1) Kanak —— written a story.

I
I
I
|
I
I
I
I

a. was b. has C. are d. have
99.  Which words are in alphabetical order?

a. beg, bad, big b. bad, beg, big

c. big, bad, beg d. bad, big, beg
100. Which words are in alphabetical order.

a. hid, hat, hum b. hum, hid, hat

c. hat, hid, hum d. hat, hum, hid
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GROUP-C, GENERAL KNOWLEDGE & CURRENT AFFAIRS
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